1. Solve by factoring. 2. Solve.
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3. Solve. 4. Solve using Quadratic

Formula

(x—3)° =4

(S\J’(_—l‘@’\—e)}(if )(x \Ix D5 O§>
%3y

st 1_@[
fi ‘*

Review: Graph the function, find the domain and range.

1 f(x) =3 2. f(x)=14-x 4:’;3
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Example 1: Use the graph to sketch the graph of f.

a) y=f(x)- 1(SW.80HT¢LH)
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Example 2: Compare the function with its parent function.

a) y=; X b) y=|x—3/+1
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c.) f(x) = \// 3x

a) f(x) =4

Parent Function:
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Example 3: (a) Identify the parent graph (b) Describe the

transformations.
a) glx =(x—10)2+5 byglx =—1(x+2)2—2
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Turn-in Problems:

p.47 (2,28, 44, 56)

HW Problems:

p.47 (19, 23-45,51-63, 83-85 odds)
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